Set-02 1 Geography PGT (LDCE) (1 to 120)

1.

Urban geography is a sub-field of which of the following branches of human geography ?
(1) Economic Geography

(2) Cultural Geography

(3) Settlement Geography

(4) Population Geography

Which one of the following branches of geography belongs to Physical Geography ?
(1) Population Geography

(2) Plant Geography

(3) Agriculture Geography

(4) Economic Geography

“Geography is concerned with the description and explanation of the areal differentiation
of the earth’s surface.” This definition of geography was given by which one of the
following ?

(1) Richard Hartshorne
2)  Griffith Tayor

(2)
(3) Vidal de La Blache
(4) Alfred Hettner :

Who among the following proposed the Nebt@-’ypothesis to explain origin of the
earth ? o
(1) Chamberlain @

(2) James Jeans . @
(3) Edwin Hubble
( N

4) Laplace

Which one of the follow &ts is called inner planet ?
(1) Jupiter ‘Q

(2) Saturn Q

(3) Mars

(

4) Uranus

Which one of the following ages represents the age of the oceans ?
(1) 3.2 billion years ago
(2) 3.4 billion years ago
(3) 4.0 billion years ago
(4) 2.4 billion years ago

At which one of the following places, the deepest drilling has been performed ?
(1) Kola in Arctic Ocean

(2) Tallinn in Gulf of Finland

(3) Stockholm in Baltic Sea

(4) Vaasa in Gulf of Bothnia
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8.

10.

11.

12.

13.

14.

Between which of the following ranges of angle from the epicentre of earthquake, the
shadow zone of P-waves appears ?

(1)  80° to 135°

(2) 105° to 145°
(3) 105° to 165°
(4)  107° to 158°

Which one of the followings was part of Laurasia ?

(1) Africa

(2) Europe
(3) India

(4) Australia

The highest recorded plate movement near Easter Island in Eastern Pacific is equal to
which one of the followings ?

(1) Less than 2.5 cm/year
2) 15 cm/year

()
(3) 10 cm/year
(4) 7 cm/year 0

Which one of the following seismic waves pass throtigh core of the earth ?

(1) L-Waves ®

(2) Surface Waves @

(3) S-Waves . @

(4) P-Waves &\

The extinction of dinosa Q&sociated with which one of the following geolocial
periods ?

(1)  Jurassic g

2) Cretaceous Q

(
(3) Triassic
(4) Devonian

Denudation includes which one of the following group of processes ?
(1) Erosion and Volcanism

(2)  Only Erosion and mass movement

(3) Mass movement and diastrophism

(4) Weathering, erosion, mass movement and transportation

Which one of the following factors of soil formation is the most active factor ?
(1) Parent material

(2) Topography

(3) Climate

(4) Time
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15. At the completion of arid cycle, which one of the following is formed ?
(1) Pediplain

(2) Peneplain
(3) Pediment
(4) Panplain

16. In which one of the following segments of river course, the landforms have more relief ?

(1) Mountain part
(2) Upper plain
(3) Middle plain
(4) Lower plain

17.  Which of the following scale depends on visible damage caused by the seismic jolts ?
(1) Vernier scale
(2) Moho scale
(3) Mercalli scale
(

4) Comparative scale
18. Which one of the followings is a depositional landfb®

(1) Sink holes

(2) Stalagmite 0
(3) Uvalas .

(4) Swallow holes @

=
19. Which one of the followings is c@ﬁrmed across the mouth of a river ?

(1) Beach
(2) Clff Q
(3) Barrier bar \
(4) Spit

20. In which one of the following layers of atmosphere, temperature decreases with increasing

altitude ?

(1) Exosphere

(2) Thermosphere
(3) Stratosphere
(4) Mesosphere

21. Ultra-violet rays are absorbed by which one of the following gas ?
(I) Oxygen
(2) Carbon dioxide
(3) Ozone
(4) Hydrogen
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22.

23.

24.

25.

26.

27.

28.

Which one of the followings is the range of insolation received on the earth’s surface ?
(1) 10 to 300 Watt/m?

(2) 70 to 320 Watt/m?

(3) 170 to 1320 Watt/m?

(4) 100 to 875 Watt/m?

Which one of the following percentages of solar radiation is reflected back to space without
heating the earth surface or atmosphere ?

1) 17%
Q) 27%
3) 35%
4) 48%

Which one of the followings is NOT a factor affecting the distribution of temperature on
the earth ?

(1) Longitude
2) Latitude

(2)
(3) Altitude
(4) Ocean currents 0

Which one of the following instruments is used @easure atmospheric pressure ?
(1) Thermometer ®

(2) Rotameter @

(3) Barometer . @

(4) Planimeter &\

At which one of the followi tudes, the coriolis force is absent ?

(1) Poles

(2) 66.5°N and S Jadi

(3) 235°N and SQAdes
(4) Equator

Tropical cyclone in Western Australia is known by which one of the followings ?
(1) Hurricanes

(2) Willy-willies

(3) Typhoons

(4) Tornadoes

Which one of the following types of cloud is formed at the highest altitude ?
(1) Cirrus

(2) Nimbus
(3) Stratus
(4)

4 Cumulus
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29.

30.

31.

32.

33.

34.

35.

Which one of the following gases in NOT a greenhouse gas ?
(1) Carbon dioxide

(2) Chloroflurocarbons
(3) Oxygen
(4) Ozone

Over which one of the followings, water depth is the least ?
(1) Continental shelf

(2) Continental slope
(3) Deep sea plain
(4) Oceanic deeps

Which one of the followings is a warm ocean current ?
(1) West Australian current

(2) Benguala current

(3) Humboldt current

(4) Auglhas current

Which one of the followings is the largest in numb rassland ecosystem ?
(1) Producers

(2) Herbivores 0

(3) Carnivores @ ¢

(4) Omnivores

.
Which one of the followings i@ a category of species for the purpose of their
conservation ?
(1) Endangered species Q
2)  Available species

(
(3) Vulnerable s
(4) Rare species

Which one of the following longitudes is selected as the standard meridian of India ?
(1) 81°30'E

(2) 82°00'E
(3) 82°30'E
(4) 83°00'E

Which one of the following lengths shows the length of Great Himalayan range from west
to east ?

(1) 2650 km
2) 2980 km
)
)

€3]

(
(3) 2500 km
(4) 1525 km
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36.

37.

38.

39.

40.

41.

42.

Which one of the followings is the highest peak of Peninsular Plateau ?
(1) Dodabetta

(2) Vavul Mala

(3) Makurti

(4) Anaimudi

Which one of the following rivers joins with Rann of Kuchchh ?
(1) Sabarmati

(2) Luni
(3) Mahi
(4) Betwa

Which one of the followings is the largest east flowing Peninsular river ?
(1) Godavari

(2) Mahanadi

(3) Kaveri
(

4) Krishna @

The annual range of temperature is the highest at v@ ne of the following places ?
(1) Jaisalmer 0

(2) Allahabad

(3) Kolkata

(

*
4) Guwabhati @
Which one of the following d{& resents onset of southwest monsoon at Kerala
coast ?
(1) 01 June \Q
2) 15 June Q

(
3) 01 July
(4) 15 May

Annual rainfall variability is the highest in which one of the following states of India ?
(1) Kerala

(2) Tamil Nadu

(3) Rajasthan

(4) Bihar

Mango showers are common in which one of the following states ?
(I) West Bengal and Assam

(2) Odisha and Chhatisgarh

(3) Maharashtra and Andhra Pradesh

(4) Karnataka and Kerala
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43.

44.

45.

46.

47.

48.

49.

Which one of the following zones of India receives maximum rainfall ?
(1) Northern part

(2) Central part

(3) Eastern part

(4) North-eastern part

Which one of the following is NOT a tree species of tropical evergreen forest ?
(1) Ebony

(2) Amaltas

(3) Rosewood

(4) Mahogany

Moist deciduous forests are found in which one of the following annual rainfall receiving
areas in India ?

(1) 75 cm to 150 cm
2) 200 cm to 250 cm

(
(3) 100 cm to 200 cm
(4) 125 cm to 225 cm @

Tribal districts constitute about what percentage otal geographical area of India ?
* 7%
*

2) 33.63%
3) 10% Q)
(4)  59.61% . \@

Which of the following is th &\umber of Biosphere Reserves in India as per 2018-19
Annual Report, Ministry Qnment and Forests ?

1) 12

2) 14 g
3) 16 Q

(4) 18

Which one of the followings is older alluvium in the Gangetic plain ?
(1) Bhangar

(2) Khadar
(3) Tarai
(4) Bhabar

According to Indian Council of Agricultural Research (ICAR), which of the following
soils has the largest area in India ?

(1) Alfisols

(2) Entisols
(3) Inceptisols
(4) Vertisols
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50.

51.

52.

53.

54.

55.

56.

Which one of the following soils is best suited to cotton cultivation ?
(1) Laterite soils

(2) Forestsoils

(3) Alluvial soils

(4) Black soils

Which one of the followings is NOT a measure to reduce soil erosion ?
(1) Contour bunding

(2) Cattle grazing

(3) Regulated forestry

(4) Mixed farming

Drought disaster belongs to which one of the following categories ?
(1) Atmospheric

(2) Aquatic

(3) Biological

(4) Terrestrial

Which one of the following states is most affected ne disaster ?
(1) Telangana

(2) Chhattisgarh 0

(3) Odisha Q) .

(4) Jharkhand

.
Can human loss by natural{% ers be controlled completely by advancing
technologies ? Choose the c swer from the followings :

(1) Yes, with advanced&j gy the human loss can be controlled completely.

(2) No, the human I n*be ‘controlled partially.

(3) No technolo ol the human loss.

(4) No one is capalle’to control the human loss.

Which one of the following states is most affected by both landslide and earthquake ?
(1) Haryana

(2) Delhi

(3) Uttar Pradesh

(4) Uttarakhand

During which one of the following years, Disaster Management Act was passed ?
(1) 2000
(2) 2003
(3) 2005
(4) 2007
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57.

58.

59.

60.

61.

62.

63.

On which one of the following maps , the greatest details are available ?
(1) Atlas map

(2) Wall map

(3) Topographical map

(4) Cadastral map

Ancient Indian scholars divided the whole world into which one of the following

‘Dwipas’ ?
1 7
(2) 6
3 5
(4) 4

Which one of the following maps belongs to cultural maps ?
(1) Relief map
2) Political map

(
(3) Climatic map
(4) Soil map @

Which one of the following instruments is used re distance on a map ?
(1) Planimeter C
*

(2) Micrometer @

(3) Rotameter

(4) Barometer o @

Generally which one of the f g scales is NOT given on topographical map ?

(1) Statement scale x

(2) Representative F

(3) Graphical sca

(4) Diagonal sca@

Which one of the following latitudes is a great circle ?
(1) 66.5°N latitude

2)  40.00°N latitude

(
(3) 23.50°N latitude
(4) 00.0° latitude

In one hour, how many degrees longitudes sun traverses due to the rotation of earth ?

1) 10°
2) 12°
)
)

W

15°

18°

(
(
(4
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64.

65.

66.

67.

68.

69.

70.

The distance between two longitudes (one degree extension) at equator is equavalent to
which one of the followings ?

(1) Approximately 109.3 km
(2) Approximately 110.3 km
(3) Approximately 111.3 km
(4) Approximately 112.3 km

To select the standard meridian for calculation of time of a country, which one of the
following criteria is selected ?

(1) Divisible by 5
(2) Divisible by 7.5
(3) Divisible by 10
(4) Divisible by 12.5

Which of the following projections is most appropriate for navigation at sea routes ?
(I) Mereator Projection
Conical projection with one standard parallel

(2)

(3) Cylindrical equal area projection

(4) Conical projection with two standard parallel

On which one of the following topographical m@the maximum details are shown ?
(1) 15 x15 map *

(2) 30"x30" map @

(3) 1°x1° map o @

(4) 4°x4° map Q

Two or more contours ar on the map in which one of the following landforms ?
(1) Spur

(2) V'’ Shaped va
(3) ‘U’ Shaped va
(4) Waterfall

In which of the following aerial photographs, the camera axis will not touch the ground
plane ?

(1) Vertical photographs

(2) Horizontal photographs
(3) Low oblique photographs
(4) High oblique photographs

Which one of the following bands of electromagnetic spectrum has smallest wave length
values ?

(1) Red

(2) Green
(3) Violet
(4) Infrared
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71.

72.

73.

74.

75.

76.

77.

Which one of the followings is the direction of door of Stevenson Screen in northern
hemisphere ?

(1) North
(2) South
(3) East
(4) West

Which one of the following approaches of human geography is the latest one ?
(1) Spatial organisation

(2)  Areal Differentiation

(3) Post-Modernism

(4) Regional Analysis

By which one of the following methods actual growth of population is computed ?
(1) Births — deaths + migration
2) Births — deaths — in migration + out migration

(
(3) Births + deaths — in migration + out migration
(4) Births — deaths + in migration — out migration @

Which one of the following developments in tec is the latest ?

(1) Sanitation and medical

(2) Information and computer .

(3) Transportation @

(4) Industrial . @

With which one of the followi \roaches of human development, International Labour

Organisation is associate(&
(1) Welfare Approac
2) Income Appr

(
(3) Basic Needs ac
(4) Capability Apprdach

Which one of the followings is known as ‘Gold Collar” workers ?
(1) Secondary workers

(2)  Quinary workers

(3) Quaternary workers

(4) Tertiary workers

‘Slash and burn’ agriculture is known by which one of the followings in Central
America ?

(1) Milpa
(2) Jhuming
(3) Ladang
(4) Roka
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78.

79.

80.

81.

82.

83.

84.

Which one of the followings is termed as ‘truck farming’ ?
(1) Viticulture

(2) Poultry farming

(38) Cattle rearing

(4) Vegetables farming

Sugar industries are located at which one of the followings ?
(1) Near to market

(2) Near to raw material

(3) Near to labour availability

(4) Near to energy source

Which one of the followings is quinary activity ?
(1) Policy formulators

(2) Banking

(3) Railway services

(

4)  Retail traders

On the basis of employment, which one of the follov@@ largest tertiary activities in
the world ?

(1) Rail Services ()

(2) Telecommunications .

(3) Tourism @

(4) Wholesale traders ° \@

Which of the following is N &ojection based on location of source of light ?
(1) Gnomonic \

(2) Stereographic

(3) Conical

(4) Orthographic

Trans-Siberian Railway runs between which of the following two terminals ?
(1) St. Petersburg and chita

(2) St. Petersburg and Vladivostok

(3) Moscow and chita

(4) Moscow and Vladivostok

Panama canal joins which of the following two water bodies ?
(1) Mediterranea sea and Indian ocean
(2) Atalantic Ocean and Caribbean sea
(3) Gulf of Panama and Gulf of Mexico
(4) Atalantic Ocean and Pacific Ocean
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85.

86.

87.

88.

89.

90.

91.

Great Britain abolished slave trade during which one of the following years ?
(1) 1805

2) 1807
(3) 1810
(4) 1812

World Trade Organisation (WTO) came into existence during which one of the following
years ?

(1) 1995
2) 1996
3) 1997
(4) 1998

The headquarter of European Union is located at which one of the followings ?
(1) Minsk
2) Jakarta

(
(3) Brussels
(4) Vienna @

Which one of the followings is an out port ?
(1) Piraeus 0

(2) Kolkala @ .

(3) Manchester

(4) Memphis ° @

‘New Flower’ is the meanin ich one of the following cities ?

(1) Dar es Salaam \
2)  Saint-Denis

(
(3) Sao Tome
(4) Addis Ababa

Which one of the following is NOT a priority of Urban Strategy of the United Nations
Development Programme.

(1) Increasing shelter for urban poor

(2) Arranging employment for youths

(3) Reducing air pollution

(4) Providing education and primary health care

The first population census in India was conducted during which one of the following
years ?

(1) 1862
) 1872
(3) 1881
(4) 1891



Set-02 14 Geography PGT (LDCE) (1 to 120)

92.

93.

94.

95.

96.

97.

Physiological density is computed by which one of the following ?

(1) Total population/Net cultivated area

(2) Total population/Gross cultivated area

(38) Total population/Total geographical area

(4) Total population/Total geographical area excluding forest cover

Which one of the followings is the characteristics of first phase of population growth in
India ?

(1) High birth rate and high death rate

(2) High birth rate and low death rate

(3) Low birth rate and low death rate

(4) Low birth rate and high death rate

Which one of the following families of modern Indian languages has highest number of
speakers ?

(1) Austric
2 Dravidian

(2)
(3) Indo-European
(4) Sino-Tibetan 0

According to 2011 Indian census, which one of@oﬂowing religious groups has third
rank in terms of population strength ? @ o

(1) Christians
(2) Hindus
.
(3) Muslims
(

4)  Sikhs K
Information on reason&iga\tion in India were incorporated in which one of the

following census years

(1) 1951
) 1971
3) 1981
(4) 1991

According to 2011 census, which one of the followings is the correct total literacy rate of
India ?

(1) 67.04%

(2) 69.04 %

(B) 71.04%

4) 74.04%



Set-02 15 Geography PGT (LDCE) (1 to 120)

98.

99.

100.

101.

102.

103.

104.

The Report “Our Common Future” was published during which one of the following
years ?

1) 1972
2) 1974
(3) 1987
(4) 1993

During which one of the following years, the first Human Development Report by United
Nations Development Programme (UNDP) was published ?

(1) 1988
2) 1989
3) 1990
4) 1991

Which one of the followings is NOT a type of rural settlements ?
(1) Clustered
Semi Clustered

()
(3) Dispersed
(4) Linear 0

Which one of the followings is a modern city ?
(1) Madurai ®
(2) Chandigarh @
(3)  Delhi o @

(4)  Allahabad &\

Which one of the followirlge1 ndustrial city ?
(1) Hugli

(2) Ambala Q

(3) Jaisalmer Q

(4)

4) Imphal

Which one of the following crops is grown thrice in an agricultural year in West Bengal ?
(1)  Wheat

(2) Rice
(3) Gram
(4) Jowar

Coffee is produced prominently in which one of the following part of India ?
(1) Foothills of Uttarakhand

(2) Foothills of West Bengal

(3) Nilgiri Hills

(4) Arawali Hills
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105. Which one of the following is NOT an essential for the success of Green Revolution ?

106.

107.

“108.

109.

110.

111.

(1)
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Assured irrigation

Availability of chemical fertilizers
High yielding varieties of seeds
Availability of cheap labour

Total utilisable water resource in India is represented by which one of the followings ?

(1)

1011 cubic km
1122 cubic km
1233 cubic km
1344 cubic km

Which one of the following river basin is located to the southern most position ?

(1) Tapi basin
(2) Godavari basin
(3) Kaveri basin
(4) Mahanadi basin
Which one of the following groups was formed agai ial evils in Ralegan Siddhi ?
(1) Tarun Mandal
(2) Barun Mandal 0
(3) Saran Mandal @ ¢
(4) Karan Mandal
.
Which one of the following nu N illage/villages were selected from each district as
‘Jal Gram’ under Jal Kranti i ?
1 1 \
2 2
@ 3
00 Q

Which one of the following copper mines is located to the westernmost location ?

(1)

Balaghat
Singhbhum
Udaipur
Hazaribagh

Which one of the following energies is polluting air ?

(1)

Wind
Petroleum
Tidal
Solar



Set-02 17 Geography PGT (LDCE) (1 to 120)
112. Which one of the following steel plant was established with British collaboration ?

(1) Durgapur
(2) Rourkela
(3) Bhilai

(4) Bokaro

113. Which one of the following major industrial regions is northernmost by location ?
(1) Mumbai Pune Region
(2) Kollam-Thiruanathapuram Region
(3)  Gurugram-Delhi-Meerut Region
(4) Gujarat Region

114. Bharmaur tehsil of Chamba district of Himachal Pradesh is dominated by which one of
the following tribes ?

(1) Gaddi
(2) Bhil
(3) Santhal
(4) Bhutia @
115. During which one of the following years, air tr India was nationalised ?
(1) 1947

2) 1951 .
(3) 1953 Q)
(4) 1955 ° \@

116. To study the trend of three @&;es over different periods, which one of the following

graphical presentation is & able ?
(1) Bar graph

(2) Line graph

(3) Polygraph Qz

(4) Percentage bar graph

117. To study the spatial distribution of population density, which one of the following
techniques is most suitable ?

(1) Choropleth method
(2) Flow map

(3) Dot method

(4) Isopleth map

118. Which of the following is NOT an advantage of raster data model ?
(1) Accurate map output
(2) Simple data structure
(3) Compatible with satellite imagery
(4) Easy and efficient overlaying
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119. Which one of the followings is NOT an impact of drought ?

(1)

Crop failure

People prosperity
Hunger and malnutrition
Economic difficulties

120. Which of the following analysis is called proximity analysis ?

(1)

Overlay Analysis
Buffer Operation
Network Analysis
Digital Terrain Model

Q
ef”o
&

(S.Q
Q
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